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- (a) 15 kg 365 gm + 16 kg 289 km
~(c) 72 kg 765 gm — 12 kg 600 gm
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Elephant weighs in g/kg

2. Weight of a sharpner is measured in g/

|

(b) 30 kg 160 gm + 39 kg 729 gm
(d) 67kg23gm-18kg67gm

3. Is your weight close to 30 kg or 30 g? C:\ L
4 Whatis the weight of a chalk? 50 g or 5g \ —
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_Q;, Write the given amount in figures/short form: E eAnsion
~a) 8rupees50 paise =| < 8.50 b) 12 rupees 25 paise = B
- [F = ]
—¢) 25 rupees 75 paise = d) 30 rupees = -
~ e) 1rupee 75 paise = f) 25 paise = )
. | ——
— g) 42 rupees 50 paise = h) 100 rupees 90 paise = ]
N M
i) 18 rupees = J) 51 rupees 60 paise = |

%

Write the amount of money in words:
a) T5.60

b) ¥ 19.25
c) ¥21.30
d) ¥ 52.00
e) I 45.75
f) % 90.50
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1 56 + 56
2. 0+12 -
3. 9+1
4, 0+18
5. 53+53 o
6. 14+1 —
7. 0+ 81 -
8. 0:52
—+ 9. 13%13 -
10. 51+1 o
——+— 11. 16+16 R

14, 33+ 33

1

13. 12=+1 S :
7 o ) f

[



Fill in the blank.

The length of a standard small ruler is cm. -

A distilled water bottle is filled using water of 4 glasses. Rashmi has —

8 glasses. Tick (v) the number of bottles she can fill. I
&) ) o

An earthworm first crawls 10 em and then 5 cm. How much length does it

cover in all? I

.................................................................





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

